DO NOT SCALE

FREQUENCY: 88 - 108 MHz

Maximum @52 mm

Mounting Boom

(not supplied) ~__ S48 Clamp
(refer to S48 Assembly Sketch)

Mounting Label:
C’F 'Installer ... This Side Up'

Drain Hole Identification
under Label

|| S48 Clamp
/
B

|

Tuning Tube
- insert up to PVC
Tape Markers

20 mm

Drain Hole

Assembly Sketch

FMD_CPLP ANTENNA Communication Services Pty. Ltd.  Trading as :
with S48 Clamp Z@@ SCALAR *

DESIGNERS AND MANUFACTURERS OF RADIO FREQUENCY ANTENNAS

Hall Street, Lindenow, Victoria, Australia.
Tel: (03) 5157 1203 Fax: (03) 5157 1641

1531-B.dwg AJH 08-09-08 COPYRIGHT -@G-Tech COMMUNICATION SERVICES PTY.LTD.
Rev 3. LM 17-12-13 NO PART OF THIS DRAWING IS TO BE REPRODUCED WITHOUT

Approved: GK WRITTEN PERMISSION.




Assembly Sketch

S48 CLAMP KIT

Stainless Steel

DESIGNERS AND MANUFACTURERS OF RADIO FREQUENCY ANTENNAS

Hall Street, Lindenow, Victoria, Australia.
Tel: (03) 5157 1203 Fax: (03) 5157 1641

Communication Services Pty. Lid.  Trading (;s :
706 SCALAR j

Copyright - Communication Services Pty. Ltd. No part of

this Drawing is to be reproduced without Written Authority

1216-B-PL.dwg AJH 15-02-07
Rev. 1. Approved: LM 09-06-15

/Mé@%/

®

PARTS SUPPLIED:

8 | U-Bolt, Square Shape, 26mm Gap, Stainless Steel 2
7 Nut, Nyloc, Hex, M8 x 1.25, Stainless Steel 4
6 Washer, Spring, M8, Stainless Steel 4
5 Washer, Flat, M8, Stainless Steel 8
4 Nut, Hex, M8, Galvanised 4
3 U-Bolt, 52mm Gap, Stainless Steel 2
2 Vee Block, Stainless Steel 2
1 Clamp Plate, Stainless Steel 1
Item Description Quantity.




FREQUENCY: 87.5 - 98 MHz

FMD-CPLP-L ARRAY ASSEMBLY

e Mounting Tube, Clamps and

Support Arms not provided /
e Tie cables to structure N/
/ ®
750 S
_ o
- / >
FMPD-CPLP-L -
Antenna T ?
o
[oX
Scaled
Power Divider S;Zfing =
(purchase separately) - refer to Handbook | ~
c/w 2 x PDC Clamps @
Branch Feeder ;
(purchase separately)
(]
Tuning Adjuster Bolt 2
L (]
/ '_
Element Tip 750
/

/
Drain Hole /

Input Cable

Mounting Tube

_— (Not supplied)

S48 Clamp

Lo
Assembly Sketch
2_StaCk Array ') Communication Services Pty. Lid.  Trading as :
Zstack Array T SeRlaE"
WI Owe r IVI e r o8 5187 3308 P o S1a7 e
COPYRIGHT -Tagh COMMUNICATION SERVICES PTY.LTD.
Jota fov NO PART OF THTS BRAWING IS T0 BE REPRODUGED WITHOUT

WRITTEN PERMISSION.




FREQUENCY: 87.5 - 98 MHz

FMD-CPLP-L ARRAY ASSEMBLY

e Mounting Tube, Clamps and

Support Arms not provided /
e Tie cables to structure N/
/ ©
750 -
, o
/ >
FMPD-CPLP-L -
Antenna T ?
o
[oX
Scaled
Phasing Harness . S,‘;meg =
(purchase separatly\ T - refer to Handbook ;
o
(]
Tuning Adjuster Bolt =
L (]
/ '_
Element Tip 750
/

/
Drain Hole /

o

Input Cable

Mounting Tube

_— (Not supplied)

S48 Clamp

Lo
Assembly Sketch
2_StaCk Array ') Communication Services Pty. Lid.  Trading as :
1 Phasing 1 %@@ SCALAR"
wi asing Harness L
520 s e B

WRITTEN PERMISSION.




FREQUENCY: 98 - 108 MHz

FMD-CPLP-H ARRAY ASSEMBLY

e Mounting Tube, Clamps and

Support Arms not provided /

e Tie cables to structure N/
/ ©
750 5
, o
_ / S
FMPD-CPLP-H -
Antenna T ?
o
[oX

Scaled
Power Divider nggng =
‘; i - refer to Handbook | ~
Clamp x 2 %)
PDC-S (supplied) — -
o
Branch Feeder -
(]
Tuning Adjuster Bolt =
L (]
/ '_
Element Tip 750
/

/
Drain Hole /

Input Cable

Mounting Tube

_— (Not supplied)

S48 Clamp

Lo g
Assembly Sketch
2_StaCk Array ') Communication Senvices Pty. Lid.  Trading as :
Z-stack Amay, NI
wi Owe r VI e r e % 3187 1505 v 103 518 1061
15108 g g1 P e e R Troaees wineuT

WRITTEN PERMISSION.




DO NOT SCALE

FREQUENCY: 87.5 - 98 MHz

Maximum Dia. to fit S48 Clamps

. 2 mm
NOTE: Mounting Mast and Clamps H
|

- not supplied \

\ Use Three Mounting
Locations for Support
m NOTE: Mounting Arms

NOT PROVIDED.
S48 Clam

Apply Amalgamation
Tape over Connectors
Mounting Label:
'Installer ... This Side Up'
m = See Handbook for spacings
Identification
Label
| Branch Feeder S48 Clamp
FMD-CPLP-L Antenna
L |
\ iy N
J Connector, N-Type,
Female
\ m Drain Hole
Drain Hole | Power Divider
Under - |
|~ PDC-S Clamps =
Assembly Sketch
m
FMD-CPLP-L Array 3-Stack Array
with Power Divider
m
J Input Cable
Communication Services Pty. Ltd. Tradlng as:
DESIGNERS AND MANUFACTURERS 0F RADIO FREQUENCY ANTENNAS
Hall Street, Lindenow, Victoria, Australia.
Tel: (03) 5157 1203 Fax: (03) 5157 1641
1531-10-B3.dwg LM 04-08-21 COPYRIGHT — COMMUNICATION SERVICES PTY.LTD.
Approved: GK 04-08-21 NO PART OF THIS DRAWING IS TO BE REPRODUCED WITHOUT

WRITTEN PERMISSION.




Maximum

DO NOT SCALE
Dia. to fit S48 Clamps
mm

NOTE: Mounting Mast and Clamps

NOT PROVIDED. \

FMD-CPLP Antenna

-~

Drain Hole o

Under

Use Three Mounting
Locations for Support

NOTE: Mounting Arms

%\
m
S48 Clamp

Apply Amalgamation
Tape over Connectors

m = See Handbook for spacings

Power Divider

|~ PDC-S Clamps

|

NOT PROVIDED.

Identification

FREQUENCY: 87.5 - 108 MHz

Mounting Label:
'Installer ... This Side Up'

Label
S48 Clamp
——— VA
L -
| N -
—/ |
\ Drain Hole
—

1531-B-4.dwg LM 24-08-09

Rev. 3. LM 27-08-19
Approved: GK

.

Assembly Sketch

FMD-CPLP ARRAY 4-STACK

with POWER DIVIDER

Communication Services Pty. Ltd.

Trading as :

Z@@ SGALAR ®

DESIGNERS AND MANUFACTURERS 0F RADIO FREQUENCY ANTENNAS

Hall Street, Lindenow, Victoria, Australia.
Tel: (03) 5157 1203 Fax: (03) 5157 1641

COPYRIGHT -@G-Tech> COMMUNICATION SERVICES PTY.LTD.
NO PART OF THIS DRAWING IS TO BE REPRODUCED WITHOUT

WRITTEN PERMISSION.




FREQUENCY: 88 - 108 MHz

e Mount Tube, Clamps and support

arms - not supplied
e Tie cables to structure

Antenna
(0]
/‘ -]
m (@]
=}
%)
,’!‘: /
PD-NNG /;:////////’ | al
Power Divider o
with PDC-S Clamps >
- order separately | e B
m o
(O]
A =
— 1 o
Tuning Adjuster -
m

Bolt \

m = see Handbook for spacings

Mounting Label:

Identification

'Installer ... This Side Up'

=

Drain Hole

Assembly Sketch

FMD-CPLP 6-Bay Array

:

/ S48 Clamp

- supplied

Y

=

Communication Services Pty. Lid.  Trading as :

Z0E SCALAR

DESIGNERS AND MANUFAGTURERS OF RADIO FREQUENCY ANTENNAS

Hall Street, Lindenow. . Victoria, Australia.
Tel: (03) 5157 1203 Fax. (03) 5157 1641

with PD-NN6 Power Divider

1531-B-6.dwg LM 26-09-13
Approved GK 26-09-13

COPYRIGHT - G-Tec]> COMMUNICATION SERVICES PTY.LTD.
NO PART OF THIS DRAWING IS TO BE REPRODUCED WITHOUT

WRITTEN PERMISSION.




